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. .end method
LppCompatRadic
AppCompatRatir .
AppCompatSpinr .class public MainZctivity
BEppCompatText? .super Lcotivity
AppCompatTextl .source "MainActivity.jawva"
LinearLayoutCc . . n ,
. . .implements ViewSCOnClickListener
ListPopupWindc
PopupMenu .field P:Button
SearchView .field S5:Button
ShareRctionPre .field cnt:I
Suggestionshde .field flag:I
SwitchCompat .field private final handler:Handler
ThemedSpinner? -field m:T
P .field n:I
Toolbar .field r:Button
~ com.example.seccon2 .field private final showMessageTask:Runnable
BuildcConfig
IMainActivitﬂ .method static constructor <clinit>()V
R .registers 1
v .prologue
g > const-string w0} Meale"
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public wvoid onClick(View w) {

int v = 3;

int v8 = 2;

if (this.flag '= 1) {
this. flag = 1;
this.findvViewById(2131492946) .5etText ("")
View v2 = this.findViewById(2131492944);
View v3 = this.findvViewById(2131492945);
this.m = 0;
this.n = new Random() .nextInt (v9) ;
String[] vl = new String[v9];

v1[0] = "CPU: Paper";
w1l[1l] = "CPU: Rock";
v1l[vB8] = "CPU: Scissors";

((TextView)v3) .setText (vl[this.n]):;
if(v == this.P) {
((TextView)v2) .setText ("YOU: Papexr"); // il

this.m = 0;

}

if(v == this.r) {
((TextView)v2) .setText ("YOU: Reock"); // A3k
this.m = 1;

}

if (v == this.s5) {

((TextView)v2) .setText ("YOU: Scissors"); // BT
this.m = vi3;
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public Mainhctivity() {

super();

this.cnt = 0;

this.handler = new Handler();
this.showMessageTask = new Runnable() {

}:

public wvoid run() {
View v0 = MainActivity.this.findViewById(2131492946);
if (Mainkctivity.this.n - MainActivity.this.m == 1) {
++MainActivity.this.cnt;
((TextView)v0) .setText ("WIN! +" + String.valueOf (Mazinkctivity.this.cnt));
}
else if (MainActivity.this.m - Mainfctivity.this.n == 1) {
MainActivity.this.cnt = 0;
((TextView)v0) .setText ("LOSE +0") ;
}
else if (MainActivity.this.m == MainActivity.this.n) {
((TextView)v0) .setText ("DRAW +" + String.valueOf (Mazinkctivity.this.cnt)):
}
else if (MainZctivity.this.m < MainActivity.this.n) {
MainActivity.this.cnt = 0;
((TextView)v0) .setText ("LOSE +0") ;
}
else |
++MainfActivity.this.cnt;
((TextView)v0) .setText ("WIN! +" + String.valueOf (MainActivity.this.cnt));
}

if (1000 == Mainkctivity.this.cnt) {
((TextView)v0) .setText ("SECCON{" + String.valueOf ((MainActivity.this.cnt + MainActivity
.this.calc(}) * 107) + "}");
}

MainActivity.this. flag = 0;
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|7 __cxa_begin_clearp .plt 00000C18

| 7| __cxa_type_natch .plt 00000024

| 7| sub C30 Ltext 00000C30

71 Java_con_exanple_secconz016_rock 1p] . text 00000074

7| s 078 Ltext D00DOCTE

7] sub_caa Ltext 00000CEA

| F] sub_cF2 Ltext 00000CF2

7] sub_p24 L text 00000024 P

7] sub_pc8 L text 00000DCE CODE16

7 sub_E18 Ltext 000016

| 7] sub_E22 Ltext 00000E22

7] rual Lsub 1 Ltext DO000E2E

% zﬁs’gég tzzz ggggggég EXPORT Java com example seccon2015 rock lpaper lscissors MainActivity calc
|7 __gmu_Unwind_RaiseException L text 00000F28 ; __unwind {

[ 7] __gnu_Unvind_Forcedimind Ltext DO0DOFBA HOVS RO, #7

7] __grmu_Unwind Resune Ltext 00000FSE BX LR

z77gn\‘LUnwindiﬁgsumeioriRethrow L text QO000FEQD ; End of function Java_com_example_seccon2015_rock,lpapen, lscissors, MainActivity calc
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~ 1|signed int Java_com _example seccon2815 rock lpaper lscissors MainActivity calc()

24
4}

return 7; |

MARIBIE R calcit 27
4 flag#t £ SECCON{(1000+7)* 107} -->SECCON{107749)
B IEW
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